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CS9922G-2

CS9922G-3

0.050kV ~ 5.000kV

+ (2%IEE+5V)

1v

100VA ( 5.000kV/20mA )

20mA

0~ 20mA,0=FFIir ™R

200uA. 2mA. 20mA

IE50R

<2% ( HEAEEMERE )

13~15

DDS+IIiK

0.35~999.9s O=HE3[% EFATIEIR

0.35s~999.9s 0=3ELEMA

0.35~999.9s O=EB[E TREATIEIR

0.0s~999.9s O=[EfEATIEIX

N#&EK. G

0.050kV ~ 6.000kV

t (2%IEE+5V)

1v

60W ( 6.000kV/10mA )

10mA

2uA. 20uA. 200uA. 2mA. 10mA

<5%

<200ms

10mA

0.35~999.9s 0=FBJF_EFAtAR

0.35~999.9s 0=3ELEMA

0.35~999.9s O=HEB[E TEATIEIR

0.35~999.9s O=[EfEATEIX

0.35~999.9s O=FERREERT|A)F

N#&EK. G

0.500kV ~ 2.500kV

0.500kV ~ 5.000kV
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+ (2%IEE+5V)

1v

50.00GQ

50.00GQ

5MQ

0.35~999.9s O=HE3[% EFATEIX

0.35s~999.9s 0=3ELEML

0.0s~999.9s O=[EfRAT AR

ARENFF. X

<200ms

0.050kV ~ 6.000kV

t (2%IEE+5V)

v
HWISHRE
0 ~ 20mA
0 ~ 10mA

200uA Y : 0.1uA , 2mA# : TuA , 20mA £ : 10uA

2uA £ : 0.001uA , 20uA £ : 0.01uA , 200uA 1 : 0.1uA,
2mA # : TuA, 1I0mA £ : 10uA

22mA Az (1.5%+5NF) , <2mA £ (2%+57F)

MR B AORIER I AT AR S

GND #&=t : RETURN #iE#155
FLOAT #&=t : RETURN B#A3EH15

5MQ ~ 50GQ

5MQ ~9.999MQ:0.001MQ,10MQ ~ 99.99MQ:0.01MQ,
100MQ ~999.9MQ:0.1MQ,1000MQ ~ 9999MQ:1MQ
10GQ ~ 50GQ:10MQ

5MQ~1000MQ £5% ,
1000MQ ~ 10000MQ +10%
10000MQ~50000MQ £15%

0~999.9s

0.1s

+ (0.1%+50ms )




